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Worksheet Solution
(Chapter 1 Kirchhoff’s Law)

MCQ (Multiple Choice Questions)
Ans. 1: (a)
Solution: The sum of the currents entering a node is equal to the sum of the currents leaving the node.
& lg+10A= 4A42ZA
=Jg= —4A
Ans. 2: (b)

Solution: Applying KVL
-3 +41+8+6Ilm0 = 10/= ) 2/=-024

Ans. 3: (c)

Solution: Total Resistance in the circuit

10 X 10 _

Reg=R+Ig1 70~ Rss

8R+40=100= R= 750
Ans. 4: (b)
Solution: Let the potential at node a is V

Applying KCL at node a

5-V '
g+ 1-3g=0
15— 4V
—15

4\y.15=15=2V=75V

+1=0

Ans. 5: (b) 2k 1kQ  4k0
Solution: The circuit can be redrawn in the form of voltage | J_

source (source transformation technique) I

20V oy
Applying kv, =20V +110kQ-8V=0 T W‘
A

28

= Toka =28 mA Skl

H.N. 28 A/1, Jia Sarai, Near lIT-Delhi, Hauz Khas, New Delhi-110016

#: +91-89207-59559
Website: www.pravegaa.com | Email: pravegaaeducation@gmail.com




PraVegarl Education

CSIR NET-JRF, GATE, IIT-JAM, JEST, TIFR and GRE for Physics

Ans. 6: (a)
Ans. 7: (c)
MSQ (Multiple Select Questions)
Ans. 8: (b), (d)
Solution: Decrease in Rz leads to a decrease in voltage drop across®s, also Rz and Rz are parallel
so there will be decrease in voltage drop across Bz which will result in less power dissipated in

R2, So option b & d are correct
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